asAct ot Hso - 59 Y s u@Aet (dleta1R)
Ul A AR, A $1Gedlel gl MRAEA

sl A, % (Qell ald 2uul - 2022

dHA: 5:45 pm. to 6:45 pm. Al 05-11-2022 $c JILL: 50

YAedl: - ol Yl sAJALdA B.
- dHa AWl AuaHl A waleadlHl walell dweall.

st-1 ollAott 1 el 5 YsllHl s Hi A (Quiell AU0AA B, %l [Quilet U Slat Al T Wig St Al F

AWl. GELERWL 1, yst Ul %l yauH @Quist Uy wal ofly @Qutet vg 8lal Al TF ([Qseu urie
5. (Us Ystoll 1 9QL B. L yst 12 6 Me sacll asta.) [5]

(1) (i) %8 AvARA @ AUA b ol £20i2 A3URL Wold &2, A a+ b o £2AL2 (AZURL ULL Aol UL,
(ii) % ab of €22 (AFUQ Ul 82, Al a WA b oial oll 22 (AZUQ A UL

(A) TT (B) TF (C) FT (D) FF
(2) (i) cosec’z —cot’y =1 Al WA A% z =y, ¥ z,y € [0, 7).

(ii) |cos(—8)| = cos @, >l 6 € [—gg]

(A) TT (B) TF (C) FT (D) FF

(3) (i) 818 UQL AUYOH {ullall cdlal 16 Ad @dlctl HAcdl AN 1 Aeal 9 L,
(ii) A 88 AvAUlell Becll A 18 66 8L, Al A Yalaodl o o dlal.
(A) TT (B) TF (C) FT (D) FF

(4) (i) % A A Be vl slat, dl vt A RuRAl UHIAR % 8L
(i) % A U el el UHAAHL Al 8, A A @QuHdcdlal s,
(A) TT (B) TF (C) FT (D) FF

(5) & ABC M2, %l dlct:30% T 3l dotdon [ 82,
(i) ZBIC &R 9381l & &lal. (i) ZBHC &Rall 353l % &l

(A) TT (B) TF (C) FT (D) FF
ust:-2 olAotl 1 ol 5 YslHi A, B, C, D WH AR [Qscdl AActl 8. URA [Aseu uie 531 MR ol

AWl (Us Ystell 2 9@ 8. Al yst 12 12 Ml stacll atstt.) [10]
(1) %A A AR 3unHl 2yals % = 0.456456456- = 0.356 &, A a+ b =

(A) 485 (B) 1455 (C) 144 (D) 162
(2) \/2012\/4 + 2028 x 2032 + 81 =

(A) 2023 (B) 2022 (C) 2021 (D) 2020
(3) %8 (A ot Guolllell 2ivall)+(B oll GUallloll uall) = 320 &, Al AN B Hi AUelell HetH

AL ale 3.

(A) 5 (B) 6 (C) 7 (D) 8

(4) A A8\ (z + 4) (2 + 5) = 2021 x 2022 oll ol o UA 3 A2, A |a + 3| =
(A) 10 (B) 9 (c) 11 (D) 4043



(5) A ABC Ml E W CA of HeAllg B Aol AL A A AU ® ¥ @l B - L — ¢ AL %
mZC = 65° A, Al mZELB = ,
(A) 105° (B) 110° (C) 125° (D) 115°

Ust:-3 oflAotl 1 &l 5 UsIHi A, B, C, D AH AR [Ascll A0etl B, A [@Qscu ude 531 AR sallol
Al (YAs Ysloll 3 9@l 8. L yst {2 18 Ale stadl atstat) [15]
(1) 2022 o\ tatyalls p ad eloldl Hadl A 2 B, al uayrisl p o v .
(A) 10 (B) 11 (C) 12 (D) 13
(2) % logga+ log, b* = 5 W loggb+ log,a? =7 &, dl ab=
(A) 64 (B) 128 (C) 256 (D) 512

(3) [Belct A8 22 + pz + ¢ = 0 oll ollos (£ 0,1) AN 3(#0,1) B. B a2 =3 WA 32 = o
A, Al [p+q| =
(A) 0 (B) 1 (C) 2 (D) 3
(4) UR¥ z # y A A dlrdlAs vl B. A z, a1, as, az.y WA by, . by, by, y, by W A AHIAR
AR fla, QA Bz

ay — a, :
) 3 8 2 ) 2 (D) 6
3 2 3
(5) %ol URA w8l [@Ar S Acll 4000 uUa 7000 ol A Jecll You Avau waAdl B2
(A) 546 (B) 728 (C) 936 (D) 672
Yal:-4 oflAell 1 &l 5 WAHL A, B, C, D AH AR (A5l Al 8. AR @Qseu urie 531 dAHRL wallol
Al (Ys YUsloll 4 9@l 8. Al Yt 12 24 B2 siadl astad) [20]
(1) sl sind, cos 6, tan § JAHAR a@”.l 2L, Al vVBHeosth + 2cos?l — 2cos b = .
(A) 0 (B) 1 (C) 2 (D) 3

2 y
(2) S o wal 3 A AH$WU 3aa2+332 — (a—3) = 0 oll YoAcR olloy A, Al (%) - <9> =

(A) 6 (B) 4 (C) 2 (D) 8
(3) a,b,c.d.e A AHH, B GGUEL 62° + 5% + 42 + 322 + 22 + 1 oll Yol A2, A

l+a)(1+b)(1+c)(1+d)(1+e)=__

(&)~ ® (©) 2 (D) -2
(4) 8 As ol s\ ABCDE ol oltllos ollogll AMlet dad WA m/BCD = 2mLACE

'aei, Al mZACE = ;

(A) 60° (B) 45° (C) 30° (D) 54°
(5) AR™ ABCD oll slloglloll dollyy 1 A5 B, % P 3l Q W WejsA BC WA TD UR

VAl Al A (gA B ¥ R ms/PAQ = 45° AL, A A POQ ol URRQ =

(A) 2.5 (B) 15 (c) 3 ‘ (D) 2

Best of Luck



